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| > restart;
| > with(Riemann):with(Canon):
> with(TensorPack) : CDF(0) : CDS(index);
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file 3- eq41b

>
_*************************************

| Equation 41b

st st sk sk sfe sk sk ok sk sk sk sk sk sk sk sk ok sk sk sk sk sk sk sk sk ok sk sk sk sk sk skoskoskokoskok
>

;Proof of equation 41b:
>

>

c]*omegal -¢c, b]*theta[ -B]=0:T(%);

b ¢ b b_
oo ,0, " to, ©o,  06,+u,,0, =0

c
| Contracting eq41 with ® ““leads to :

> temp = expand(eq[41]-omegal -d, a]) : T(%);

b a c b a
oo ,0, 0, o, 0, 0, 6,+u,0, 0, =

B temp?2 := subs(c=e,a=c,d=a,e=d, temp) : T(%);

d

c b c b c b_
Sow ,0, 0, to, o, o, 6,+tp,0, "o, =0

[ > temp3 = expand(TEDS(eq[14 b], temp2)) : T(%);

2 b c b c b_
8,00, —800,0, 0,  tu,0, o, =0

[ > read "EFE" : read "SFE" : read "fids" : read "eqs" : read "eqs2" :read "Seneqs3b" :

[ In this file we continue to follow the equations outlined by Senovilla et al. (2007) with the assumptions
for dust

> eq[41] :=-8*omega[ -a, b]* omega™ omegal - B] + omega[ -a, b]* mu[ - B] + omega[ -a,

(1.1)

(1.2)

(1.3)

(1.4)



>eq(41 b] == temp3 : T(%);
2
0,0 0, b—8cow),bma ‘o, b—i—u;b(oa CcocbZO
> eql4l c] == temp2 : T(%);
80w, 0, cwcb—i-wa cwcdwdbe’,b—i-u;bwa cwcbzo
[ >
;Proof of equation 41b, 41c - completed:
_*****************************************
[ >
> PrintSubArray(eq, 1,41, y);
L,T,,=pu,u,
2’Pab:uuab+gab
3,Pabu b
4,dX “=u "X,
a_ b a
S5,du “=u "u ",
1
6,ua;b— 3 oP,,to,,to, ,—du,u,
7,0=u aa
_1 c d 1 c d 1
S’Gab_EPa Pb ucd—'_EPb Pa uc;d_?epab
%0, ,~~P P, % ,—~p, P °
’O)ab ) a b Ucd ) b a Yecd
1 becd
10,co”=3na “Cu o,y
ll’mab_nabefw euf
12, ® —%w“bmab
13, "iff(iff(omega[-a,-b] = 0,omega[-a]),omega = 0)"
2
14,coaccocb=—0) Pab—i-wbwa
1 1 1 1 ab
15,Eub;a—Eua;b—za’uaub—jdubua—kw
1 1 1 1 1
16’_€ucua;b+_ucuba+gubuac__ubuca_guaubc-i_guau
17,6 ,,=0

(1.5)

(1.6)
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3

a

18,ua;b= oP,,to,,

b

a _ a
19u " g—u "4 =R, qu

20, dottheta + % 92 -2 0)2 + % n=0
2

d f
2LP, Py o g+ 5

bw, ,=0

1 2
22,mamb—?Pabw +£,,=0

_ d
23,E ,,=C . qu ‘u

24,Hab=%nae ey u’
25.P 0" u f+%9(o “=0
26,2P“ "0 ,+3P ", 0" =0
27,0 “ ,=2du ‘o,
28’Hab:%Pa °p, d @ ;C"'%Pb ‘p d g d e
29, 0,,0" ‘=P, " ‘0, .—P, b o ‘o,,

30, w0 + dotmu =0
31, (W+p)du “+P“"p,
32,du “=0

;a

fdot

33,u,=-

M u=(cl—1)p+e2o

35, dotomegaabz—% bo,,

36, dotomega = - % 0w

37,6 (c]p— % c2 0)2) -0

J b b b 1 b
38, 0 (P ) =P Mot y+ 0 “Of = 8PS,

b b b
39,-3P,"0 ‘@, —13P, "0 ‘@, ,+2P, "1n,=0

b b b
40,-80P, "o ,+P,"n,+0,"0,=0



41, -8 0o ,o, =0 1.7)

> save eq, "Seneqs3c";

> read "Seneqs3c" :




